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If 8 pens cost 40, how much will 27 pens cost?

(i) X135 (ii) X120 (iii) X147 (iv) X148 (v) X113

If 13 toys cost X117, how many toys can be purchased with 2437
(i) 26 (ii) 24 (iii) 27 (iv) 30 (v) 28

If 15 | of butter milk costs 180, how much will 35 | cost?
(i) X392 (ii) X435 (iii) X436 (iv) X420 (v) X406

If 10 | of oil costs X200, how much of oil costs 5007
(i) 221 (i) 251 (iii) 281 (iv) 201 (v) 301

If 19 men can make 76 birthday cakes in a day, how many birthday cakes are made by 19 men in a day?

(i) 75 (ii) 73 (iii) 77 (iv) 76 (v) 79

If 12 men can make 36 toys in a day, how many men are needed to make 63 toys in a day?

(i) 24 (ii) 20 (iii)) 22 (iv) 21 (v) 19

If Anthony can read 209 pages in 19 hr, how many pages can he read in 16 hr?

(i) 173 (ii) 179 (iii) 176 (iv) 175 (v) 177

If Akbar can read 260 pages in 20 hr, he can read 156 pages in how many hours?

(i) 17 hr (ii) 12 hr (iii)) 9 hr (iv) 15hr (v) 7 hr

If Ayush can make 120 pastries in 12 min, in how much time can he complete an order of 270 pastries ?

(i) 22 min (ii) 30 min (iii) 24 min (iv) 27 min (v) 32 min

If 60 men can do a piece of work in 63 days, how many men can do the same work in 54 days?

(i) 72 (ii) 69 (iii) 67 (iv) 70 (v) 71

If 120 men can do a piece of work in 70 days, 60 men can do the same work in how many days?

(i) 124 days (ii) 146 days (iii)) 157 days (iv) 140 days (v) 115 days

A vehicle can cover certain distance in 140 min, running at a speed of 165 kmph. At what speed must the vehicle
run to cover the same distance in 110 min?

(i) 214 kmph (ii) 195 kmph (iii) 210 kmph (iv) 232 kmph (v) 187 kmph

A vehicle can cover certain distance in 42 min, running at a speed of 143 kmph. In how many minutes, the
vehicle covers the same distance running at a speed of 91 kmph?

(i) 63 min (ii) 71 min (iii) 69 min (iv) 61 min (v) 66 min

The cost of 10 kg of potatoes is X240. How many kgs of potatoes can be purchased with X384 ?
(i) 11 kg (i) 19 kg (iii)) 13 kg (iv) 16 kg (v) 21 kg
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The cost of 25 kg of cabbages is X700. How much has to be paid to purchase 13 kg of cabbages ?

(i) X359

The weight of 17 rounds of copper wire is 425 kg. How many rounds of copper wire is present in 500 kg?

(i) 18 (i) (iv) 21 (v) 19

(ii) X376 (iii) X350 (iv) X364

20 (iii) 22

A bus ticket fare for 15 km costs X52. How much is the fare for 12 km?

(i) X41.60

The sales tax for X100 of a bill is ¥14. How much sales tax has to be paid for a bill of 206 ?
(i) X23.84

To stitch a shirt, 153 cm of cloth is needed. How much cloth is needed to stitch 7 shirts ?

(i) 1071

20 m of cloth is required to stitch 7 dresses. How many meters of cloth is required to stitch 25 dresses?

cm (i)

(i) 76.43 m (ii)

(ii) X44.60

(ii) X25.84

1201 cm

71.43 m

(iii) X46.60 (iv) X38.60 (v) X36.60

(iii) X33.84 (iv) X28.84 (v) X31.84

(iii) 1291 cm (iv) 1051 cm (v) 911 cm

(iii) 66.43 m (iv) 68.43 m (v) 74.43 m

The cost of 9 dozen bananas is ¥288. What is the cost of 23 dozens ?

(if) X736 (iii) X720 (iv) X751 (v) X754

(i) X718

10 mangoes weigh 7 kg. If 10 mangoes are needed, how many kgs have to be purchased?

(i) 7.00 kg (iv) 6.00 kg (v) 5.00 kg

The specification on a printer says that it prints 2000 pages in 25 min. If 6800 pages have to be printed, how long

will it take ?

(i) 90 min (ii) 85 min

(i) 9.00 kg

(iii) 8.00 kg

(iii) 80 min (iv) 88 min

(v) 82 min

20 gm of gold costs X52000. What is the cost of 31 gm ?

(i) 81100

A banker gave foreign exchange of $16 for X768. How many dollars will the customer get for 1008 ?

(i) $18

(i) $16

(if) X80600

(iii) $21

(iii) X78900 (iv) X83300

(iv) $26 (v) $24

(v) X80200
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